
Numatic International Spare Parts
Model No:  WV/CVC-370 (3 WIRE)

231855
DRAWING: EXP-0368 ISS:A04
24/07/2003

Numatic International Spare Parts
Model No: WV/CVC-370 (3 WIRE)

4214 11 12

9

8
16

18

6

7
10

13 22

38

37

35

33

31

34

30

32

28

29

27
25

4026243923 44

17

1

2

3

4

15

41

5

19

18

21

20

36

45

43

46

POS: ITEM NO:DESCRIPTION: COMMENTS:
1 227002 BOTTOM MOTOR HOUSING
2 227115 TOGGLE
3 202031 BOTTOM MOTOR GASKET
4 205060 230V MOTOR

205062 120V MOTOR
205063 100V MOTOR

5 202030 TOP MOTOR GASKET
6 325424 TOP MOTOR HOUSING (PRINTED CHARLES) CVC MACHINES

325423 TOP MOTOR HOUSING (PRINTED NUMATIC) WV MACHINES
7 220472 TERMINAL BLOCK MOULD + INSERTS
8 220843 BLUE ROCKER SWITCH
9 220670 SWITCH COVER
10 227008 BLACK CABLE CLAMP
11 219101 No8 X 1/2 INCH LONG POZI PAN PLASTIITE SCREW
12 220923 STRESS RELIEF
13 219107 No6 X 5/8 INCH  LONG POZI PAN PLASTITE SCREW
14 219090 M4 X 8MM LONG POZI PAN SEMS SCREW
15 220743 230V THERMAL OVERLOAD

220744 115V THERMAL OVERLOAD
16 227019 CABLE HOOK
17 219369 No8 X 1 INCH LONG POZI PAN STAINLESS STEEL PLASTITE SCREW
18 219041 No8 X 3/4 INCH LONG POZI PAN SCREW
19 325020 COVER - NO LOGO
20 227059 FIXED HANDLE
21 219003 M5 FORM A STEEL WASHER
22 236045 10.0M X 1.00MM X 3 CORE CABLE (UK PLUG)

236048 10.0M X 1.00MM X 3 CORE CABLE (EURO PLUG)
236046 10.0M X 1.00MM X 3 CORE CABLE (SWISS PLUG)
236037 10.0M X 1.00MM X 3 CORE CABLE (SOUTH AFRICAN PLUG)
236042 10.0M X 18AWG X 3 CORE CABLE (CSA PLUG)
236050 10.0M X 1.50MM X 3 CORE CABLE (INDUSTRIAL PLUG)

23 204067 50MM BLACK TWIN CASTOR
24 227011 BLACK WHEEL HUB CAP
25 403039 BUCKET HANDLE
26 219105 No8 X 5/8 INCH LONG POZI PAN PLASTITE SCREW
27 206493 WET DRY CONNECTOR
28 208026 BUCKET HANDLE SPACER
29 219282 M5 X 16MM LONG POZI PAN COUNTERSUNK SCREW
30 206026 POLYPROP BALL
31 225087 FLOAT CAGE SUPPORT
32 225086 FLOAT CAGE
33 225083 FLOAT ASSEMBLY GASKET
34 220235 FLOAT GROMMET
35 207011 FLOAT CAGE GASKET
36 207055 GAUZE FILTER
37 207102 WHITE FILTER ASSEMBLY
38 209050 SINGLE FILTER GRID
39 227640 2 SHOT WHEEL ASSEMBLY
40 227638 BLACK PLAIN TRIM

227687 RED PLAIN TRIM
277688 BLUE PLAIN TRIM
227689 GREEN PLAIN TRIM
227690 YELLOW PLAIN TRIM

41 320303 300MM LONG GREEN/YELLOW LINK WIRE
42 220144 SUPPRESSOR ASSEMBLY
43 320296 340MM LONG WHITE LINK WIRE
44 325425 RED DRUM ASSEMBLY WV MACHINES

325426 BLUE DRUM ASSEMBLY WV MACHINES
325427 GREEN DRUM ASSEMBLY WV MACHINES
325428 YELLOW DRUM ASSEMBLY WV MACHINES
325429 GREY DRUM ASSEMBLY WV MACHINES
325431 RED DRUM ASSEMBLY + FACE CVC MACHINES
325417 BLUE DRUM ASSEMBLY + FACE CVC MACHINES
325432 GREEN DRUM ASSEMBLY + FACE CVC MACHINES
325433 YELLOW DRUM ASSEMBLY + FACE CVC MACHINES

45 227397 BLUE THREADED NECK
227396 RED THREADED NECK
227398 GREEN THREADED NECK
227399 YELLOW THREADED NECK
227395 BLACK THREADED NECK
227346 GREY THREADED NECK

46 219566 M4 X 6MM LONG POZI PAN SCREW
47 218005 NVM2B/2 INDIVIDUAL DISPOSABLE FILTER TRAPIT BAG (MANUFACTURING) NOT SHOWN


